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निरे्दश (1 – 5) : निम्‍िलिखित जािकारी को 
ध्‍यािपूर्वक पढ़ें और दर्दए गए प्रश्‍िों के उत्‍तर र्द़ें: 
आठ‍व्‍यक्‍‍त A, B, C, D, E, F, G और H एक‍
र्गावकार‍मेज‍ के‍चारों‍ओर‍बैठे‍ हैं।‍ उिम़ें‍स‍ेचार‍
बाहर‍की‍ओर‍मुि‍करके‍कोिों‍पर‍बैठे‍हैं‍और‍शेष‍
चार‍मेज‍की‍भुजाओं‍पर‍अंर्दर‍की‍ओर‍मुि‍करके‍
बैठे‍हैं। H, C के‍बाए‍ंर्दसूरे‍स्थाि‍पर‍बैठता‍है। G, 
H के‍र्दाएं‍तीसरे‍स्थाि‍पर‍बैठता‍है। E, G के‍बाएं‍
र्दसूरे‍स्थाि‍पर‍बैठता‍है। A, E के‍बाए‍ंर्दसूरे‍स्‍थाि‍
पर‍बैठता‍है। B मेज‍की‍ककसी‍एक‍मध्य‍भुजा‍पर‍
बैठता‍है। B, E का‍निकटतम‍पडोसी‍िहीं‍है। D, F 
के‍बाएं‍र्दसूरे‍स्‍थाि‍पर‍बैठता‍है।  
1. H के‍र्दाईं‍ओर‍स‍ेगगि‍ेजािे‍पर H और A के‍
बीच‍म़ें‍ककतिे‍व्‍यक्‍‍त‍बैठते‍हैं? 
A. र्दो 
B. एक 
C. तीि 
D. तीि‍से‍अगिक 
E. कोई‍िहीं 
 
2.D के‍ठीक‍बाएं‍कौि‍बैठता‍है? 
A. C 
B. G 
C. B 
D. H 
E. उपरो‍‍त‍म़ें‍स‍ेकोई‍िहीं 
 
3.वर्षम‍ज्ञात‍कीक्जए? 
A. C 
B. G 
C. D 
D. H 
E. F 
 
4.निम्‍िलिखित‍म़ें‍से‍ककस‍युग्‍म‍का‍मुि‍बाहर‍की‍
ओर‍है? 
A. D-B 
B. H-A 

C. F-C 
D. G-H 
E. उपरो‍‍त‍म़ें‍स‍ेकोई‍िहीं 
 
5.F के‍बाएं‍तीसरे‍स्‍थाि‍पर‍कौि‍बैठता‍है? 
A. B 
B. A 
C. G 
D. C 
E. उपरो‍‍त‍म़ें‍स‍ेकोई‍िहीं 
 
6.यदर्द‍संख्या 729645138 म़ें, प्रत्येक वर्षम‍संख्या‍
म़ें 1 घटाया‍जाए‍और‍प्रत्येक सम‍संख्या‍म़ें 1 जोड‍
दर्दया‍जाए, तो‍िई‍व्‍यर्स्‍था‍म़ें‍बाए‍ंसे‍तीसरे‍अंक‍
और‍र्दाएं‍से‍चौथे‍अंक‍का‍गणुिफि‍‍या‍होगा? 
A. 45 
B. 32 
C. 54 
D. 40 
E. इिम़ें‍स‍ेकोई‍िहीं 
 
7.शब्‍र्द ‘HANDCRAFT’ म़ें‍अक्षरों‍के‍ऐसे‍ ककतिे‍
युग्‍म‍हैं, क्जिम़ें‍से‍प्रत्येक‍के‍बीच‍शब्‍र्द‍म़ें‍उतिे‍ही‍
अक्षर‍हैं‍ क्जतिे‍अंग्रेजी‍र्णवमािा‍म़ें‍होत‍ेहैं‍ (आग‍े
और‍पीछे‍र्दोिों‍ओर)? 
A. एक 
B. र्दो 
C. तीि 
D. तीि‍स‍ेअगिक 
E. कोई‍िहीं 
 
8.यदर्द‍शब्‍र्द‍ ‘AGGREGATION’ के‍पहिे, तीसरे, 
िऱ्ें‍और‍ग्‍यारहऱ्ें‍अक्षरों‍से‍एक‍अथवपूणव‍शब्र्द‍बिािा‍
संभर्‍है, तो‍उस‍शब्र्द‍म़ें‍बाईं‍ओर‍से‍तीसरा‍अक्षर‍
कौि‍सा‍होगा? यदर्द‍ऐसा‍कोई‍शब्र्द‍िहीं‍बिाया‍जा‍
सकता‍है‍तो‍अपिा‍उत्‍तर X के‍रूप‍म़ें‍र्द़ें‍और‍यदर्द‍
ऐसे‍एक‍स‍ेअगिक‍शब्र्द‍बि‍सकत‍ेहैं, तो‍अपिा‍
उत्‍तर Y के‍रूप‍म़ें‍र्द़ें। 
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A. I 
B. A 
C. X 
D. Y 
E. N 
 
निरे्दश (9 – 12) : िीचे दर्दए प्रश्‍ि म़ें तीि कथि 
दर्दए गए हैं क्जिके र्दो निष्‍कषव दर्दए गए हैं। आपको 
दर्दए गए कथिों को सत्‍य माििा है भि े ही र् े
र्ास्‍तवर्क ज्ञात तथ्‍यों से अिग ही ‍‍यों ि हो। सभी 
निष्‍कषों को पढ़ें और कफर निश्‍चय कऱें कक दर्दए गए 
निष्‍कषों म़ें से कौि सा सामान्‍यत: ज्ञात तथ्‍यों की 
उपेक्षा करत ेहुए कथिों का ताककव क रूप स ेअिुसरण 
करता है।  
9.  
कथि: 
कोई‍पाटव, काटव‍िहीं‍है 
सभी‍काटव, बोर्व‍है 
कोई‍बोर्व, गि‍िहीं‍है 
निष्‍कषव: 
I. कुछ‍बोर्व, पाटव‍िहीं‍हैं। 
II. कोई‍गि, पाटव‍िहीं‍है। 
A. केर्ि I अिुसरण‍करता‍है। 
B. केर्ि II अिुसरण‍करता‍है। 
C. या‍तो I या II अिुसरण‍करता‍है। 
D. ि‍तो I ि‍ही II अिुसरण‍करता‍है। 
E. I और II र्दोिों‍अिुसरण‍करत‍ेहैं। 
 
10.कथि: 
केर्ि‍कुछ‍पॉर्, ड्राइर्‍है 
कुछ‍ड्राइर्, बॉन्र्‍है 
सभी‍बॉन्‍र्, फ्िैग‍हैं 
निष्‍कषव: 
I. सभी‍ड्राइर्, फ्िैग‍हैं 
II. कुछ‍पॉर्, ड्राइर्‍िहीं‍हैं 
A. केर्ि I अिुसरण‍करता‍है। 
B. केर्ि II अिुसरण‍करता‍है। 
C. या‍तो I या II अिुसरण‍करता‍है। 

D. I और II र्दोिों‍अिुसरण‍करते‍हैं। 
E. ि‍तो I ि‍ही II अिुसरण‍करता‍है। 
 
निरे्दश (11 – 16) : निम्िलिखित‍ प्रश्ि‍ म़ें‍ र्दो‍
समीकरण‍चर‍x और‍y म़ें‍दर्दए‍गए‍हैं।‍आपको‍इि‍
समीकरणों‍को‍हि‍करिा‍है‍तथा‍x और‍y के‍बीच‍
संबंि‍नििावररत‍करिा‍है। 
 
11. I. x2 = 256 
II. y2 + 18y + 17 = 0 
A. y > x 
B. x > y 
C. x ≤ y 
D. x ≥ y 
E. x = y या‍कोई‍संबंि‍स्थावपत‍िहीं‍ ककया‍जा‍
सकता 
 
12.I. 2x2 + 15x + 28 = 0 
II. 2y2 + 19y + 45 = 0 
A. y > x 
B. x > y 
C. x ≤ y 
D. x ≥ y 
E. x = y या‍कोई‍संबंि‍स्थावपत‍िहीं‍ ककया‍जा‍
सकता 
 
13.I. 6x2 + 13x + 6 = 0 
II. 15y2 + 13y + 2 = 0 
A. y > x 
B. x > y 
C. x ≤ y 
D. x ≥ y 
E. x = y या‍कोई‍संबंि‍स्थावपत‍िहीं‍ ककया‍जा‍
सकता 
 
14.I. x2− 15x + 56 = 0 
II. y2− 17y + 72 = 0 
A. y > x 
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B. x > y 
C. x ≤ y 
D. x ≥ y 
E. x = y या‍कोई‍संबंि‍स्थावपत‍िहीं‍ ककया‍जा‍
सकता 
 
15.I. x2− 14x + 13 = 0 
II. y2− 12y + 11 = 0 
A. y > x 
B. x > y 
C. x ≤ y 
D. x ≥ y 
E. x = y या‍कोई‍संबंि‍स्थावपत‍िहीं‍ ककया‍जा‍
सकता 
 
16.I. 4x2 + 13x + 9 = 0 
II. 4y2 + 20y + 25 = 0 
A. y > x 
B. x > y 
C. x ≤ y 
D. x ≥ y 
E. x = y या‍कोई‍संबंि‍स्थावपत‍िहीं‍ ककया‍जा‍
सकता 
 
निरे्दश (17 – 22) : निम्ि‍प्रश्ि‍म़ें‍प्रश्ि‍गचन्ह‍(?) 
के‍स्थाि‍पर‍‍या‍अिुमानित‍माि‍आएगा? (आपस‍े
सटीक‍माि‍की‍गणिा‍करिे‍की‍अपेक्षा‍िहीं‍है) 
 
17. 244.03 – 654.02 + ? ÷ 2.01 = 835.01 
A. 2520 
B. 2460 
C. 2370 
D. 2340 
E. 2490 
 
18.224.99 ÷ 3.01 + ? का‍25.01% = 520.01 
A. 1760 
B. 1805 

C. 1780 
D. 1689 
E. 1750 
 

19.  
A. 44 
B. 41 
C. 52 
D. 38 
E. 50 
 

20.  
A. 529 
B. 514 
C. 503 
D. 497 
E. 490 
 

21.  = ? 
A. 128 
B. 141 
C. 144 
D. 136 
E. 131 
 
22.

 
A. 48 
B. 57 
C. 61 
D. 52 
E. 45 
 
Direction (23 – 26) : Read the sentence to 
find out whether there is an error in it. The 
error, if any, will be in one part of the 
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sentence. The number corresponding to 
that part will be your answer. If the given 
sentence is correct as it is, mark the 
answer as ‘No error’. Ignore the errors of 
punctuation, if any.  
23.  
Customers of the museum are (1)/ in the 
processing of collecting and (2)/ preserving 
unique masks and (3)/ face shields from 
the current ones. (4) 
A. 2 
B. 3 
C. 4 
D. 1 
E. No error 
 
24.Goods manufactured in (1)/ Asia could 
have (2)/ dominated the Western market 
(3)/ due for its low price. (4) 
A. 4 
B. 1 
C. 2 
D. 3 
E. No error 
 
25.The aircraft returned to (1)/ the airport 
soon after (2)/ the take off as the pilot (3)/ 
encountered some technical snags (4). 
A. 3 
B. 1 
C. 4 
D. 2 
E. No error 
 
26.The amount disburse (1)/ was less (2)/ 
than the (3)/ original amount. (4) 
A. 3 
B. 1 

C. 4 
D. 2 
E. No error 
 
Direction (27 – 30) : In the given statement 
some words have been highlighted. These 
words may not be at the correct place 
making the sentence grammatically and 
contextually incorrect. Choose the option 
which represents the correct sequence of 
words, which will make the sentence 
grammatically and contextually correct. If 
the sentence is correct as it is, choose E 
i.e. ‘No rearrangement required’ as your 
answer.  
27.  
According to study, we do not past (A) 
more complex jobs that we had in the 
involve (B), but today jobs performed (C) 
numerous tasks that do not really need to 
be have (D). 
A. BCAD 
B. DBAC 
C. BDAC 
D. DABC 
E. No rearrangement required 
 
28.Climate change is concern (A) risks to 
human emerging (B) and well being and 
thus is health (C) as a serious posing (D) 
worldwide. 
A. DBCA 
B. BADC 
C. DCBA 
D. CBAD 
E. No rearrangement required 
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29.Being self-employed also means finding 
(A) yourself unions (B) the without (C) of 
HR department or trade protection (D). 
A. ABDC 
B. ACDB 
C. CDAB 
D. DCAB 
E. No rearrangement required 
 
Direction (30 – 32) : In the following 
question, a idiom/phrase is given that is 
followed by three statements. All these 
three statements carry the given 
idiom/phrase. Identify the sentence(s) in 
which the idiom/phrase fits to make them 
grammatically correct and meaningful.  
30.  
See eye to eye 
 
I. Studios went to war with exhibitors and 
it’s unclear if they’ll ever see eye to eye. 
II. The siblings did not see eye to eye, but 
their disagreements did not make them 
wrangle in public. 
III. Wright saw eye to eye of the filmmaker 
Spike Lee, who featured him in a jeans 
commercial. 
A. Only I 
B. Only II 
C. Only III 
D. Both I and II 
E. Both II and III 
 
31.Stone's throw away 

I. The deal isn't yet a stone’s throw away, 
but we're confident it will go ahead as 
hoped. 
II. II. A jaw-dropping feat of volcanic 
architecture has risen in the Italian city of 
Nola, just a stone's throw away from the 
cataclysmic Mt. Vesuvius. 
III. The doctors tell me that, unless I give 
up playing music, I'll be stone’s throw away 
by the time I'm 40. 
A. Only I 
B. Only II 
C. Only III 
D. Both I and II 
E. Both II and III 
 
32.Salad Days 
I. He may have grown old, but he has shed 
none of his brashness and aggression of 
his salad days. 
II. Many people sell old patio furniture, 
although you may have to be willing to use 
a little salad day to get used items back 
into shape. 
III. The festival came at perfect timing for 
kids who suffered salad days in March due 
to the long, cold winter. 
A. Only I 
B. Only II 
C. Only III 
D. Both I and II 
E. Both II and III 
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###ANSWERS### 

1. Ans. D.  

 
2. Ans. B.  

 
3. Ans. B.  

 
4. Ans. C.  

 
5. Ans. C.  

 
6. Ans. B.  

Original Word: 729645138 

After Applying given 

condition: 638754029 

Third digit from the left  is 8 and the 

fourth digit from the right is 4 so the 

product is 32. 

. 

7. Ans. D.  

There are five such pairs: DA, DC, CA, CF, 

NT 

8. Ans. A.  

1st, 3rd, 9th and 11th letters of the word = 

A,G,I,N 

Meaningful word - GAIN 

9. Ans. A.  

 
10. Ans. B.  

www.byjusexamprep.com

 
 

 

 

http://www.gradeup.com/
https://gradeup.co/courses/selection-batch-sbi-ibps-po-main-2020-comprehensive-course-english


 
 
 

 
8 

 

 
11. Ans. E.  

x2 = 256 

⇒ x = 16, −16 

y2 + 18y + 17 = 0 

⇒ y2 + 17y + y + 17 = 0 

⇒ y(y + 17) + 1(y + 17) = 0 

⇒ (y + 17)(y + 1) = 0 

⇒ y = −17, −1 

Thus, no relation can be established. 

12. Ans. B.  

2x2 + 15x + 28 = 0 

⇒ 2x2 + 8x + 7x + 28 = 0 

⇒ 2x(x + 4) + 7(x + 4) = 0 

⇒ (2x + 7)(x + 4) = 0 

⇒ x = −4,  

2y2 + 19y + 45 = 0 

⇒ 2y2 + 10y + 9y + 45 = 0 

⇒ 2y(y + 5) +9(y + 5) = 0 

⇒ (y + 5)(2y + 9) = 0 

⇒ y = −5,  

Thus, x > y 

13. Ans. C.  

6x2 + 13x + 6 = 0 

⇒ 6x2 + 9x + 4x + 6 = 0 

⇒ 3x(2x + 3) + 2(2x + 3) = 0 

⇒ (3x + 2)(2x + 3) = 0 

⇒ x = ,  

15y2 + 13y + 2 = 0 

⇒ 15y2 + 10y + 3y + 2 = 0 

⇒ 5y(3y + 2) +1(3y + 2) = 0 

⇒ (3y + 2)(5y + 1) = 0 

⇒ y =  

Thus, x ≤ y 

14. Ans. C.  

x2− 15x + 56 = 0 

⇒ x2− 8x − 7x + 56 = 0 

⇒ x(x − 8) − 7(x − 8) = 0 

⇒ (x − 8)(x − 7) = 0 

⇒ x = 7, 8 

y2− 17y + 72 = 0 

⇒ y2− 8y − 9y + 72 = 0 

⇒ y(y − 8) − 9(y − 8) = 0 

⇒ (x − 8)(x − 9) = 0 

⇒ y = 8, 9 

Thus, x ≤ y 

15. Ans. E.  

x2− 14x + 13 = 0 

⇒ x2− 13x − x + 13 = 0 

⇒ x(x − 13) − 1(x − 13) = 0 

⇒ (x − 13)(x − 1) = 0 

⇒ x = 1, 13 

y2− 12y + 11 = 0 

⇒ y2− 11y − y + 11 = 0 

⇒ y(y − 11) − 1(y − 11) = 0 

⇒ (y − 11)(y − 1) = 0 

⇒ y = 1, 11 

Thus, no relation can be established. 

16. Ans. B.  

4x2 + 13x + 9 = 0 

⇒ 4x2 + 4x + 9x + 9 = 0 

⇒ 4x(x + 1) + 9(x + 1) = 0 

⇒ (4x + 9)(x + 1) = 0 

x = , −1 

4y2 + 20y + 25 = 0 

⇒ 4y2 + 10y + 10y + 25 = 0 

⇒ 2y(2y + 5) + 5(2y + 5) = 0 

⇒ (2y + 5)(2y + 5)= 0 

⇒ y =  

Thus, x > y 

17. Ans. E.  

By Approximation, 

 = 835 + 654 – 244 

⇒  = 1489 – 244 

⇒ = 1245 

⇒ ? = 2490 

18. Ans. C.  

By Approximation, 

225 ÷ 3 + 25% of ? = 520 

⇒ 75 +  = 520 

⇒ = 520 – 75 

⇒ = 445 

⇒ ? = 1780 

19. Ans. A.  
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By Approximation, 

? =  

=  

= 44 

20. Ans. B.  

By Approximation, 

? =  

=  

= 9 × 8 + 442 

= 72 + 442 

= 514 

21. Ans. D.  

By approximation, 

? =  

= 109 + 9 × 3 

= 109 + 27 

= 136 

22. Ans. B.  

By approximation, 

74 – ? =  

⇒ ? = 74 –  

= 74 –  

= 74 – 17 

= 57 

23. Ans. A.  

The error lies in the second part of the 

sentence. The part requires a noun, and 

being a verb, 'processing' is contextually 

incorrect. It needs to be replaced by the 

noun 'process'. 

Thus, option A is the correct answer. 

24. Ans. A.  

It should be ‘to’ in place of ‘for’ in the 

fourth part of the sentence. 

25. Ans. E.  

There is no error in the given sentence. 

26. Ans. B.  

The correct option is B. 

27. Ans. D.  

The correct sequence is DABC. 

28. Ans. C.  

The correct sequence is DCBA. 

29. Ans. B.  

The correct order is ACDB. 

30. Ans. D.  

See eye to eye means to agree fully with 

someone or be in full agreement. The 

phrase has been used correctly in 

statements I and II. 

In the statement III, the correct phrase 

would have been to catch someone’s eye. 

Note that if you catch someone's eye, you 

do something to attract their attention, so 

that you can speak to them. 

31. Ans. B.  

Note that the given phrase means ‘a short 

distance’. The second statement is 

correct. 

The correct phrase to be used in 

statement I would be ‘carved in stone’, 

which means 'Permanently fixed or firmly 

established; incapable of being changed. 

In the third statement, the correct phrase 

would be ‘stone deaf’ which means 

completely deaf as the given sentence 

talks about music. 

32. Ans. A.  

In II, we need the correct idiom will be 

‘elbow grease’. 

In III, we need the correct idiom will be 

‘Cabin-fever’. 

So, the correct answer is A. 

  

www.byjusexamprep.com

 
 

 

 

http://www.gradeup.com/
https://gradeup.co/courses/selection-batch-sbi-ibps-po-main-2020-comprehensive-course-english

